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RAFI5h & & 1,212 M 1,219 -— %| FERI6EE 13,851 M 1,128,927 M 103 %
RAFI56 5 & 3,200 M 4,419 265 %| FRHRITEE 10,027 M 1,138,954 M 12 %
REFISTEE 14,345 M 18, 764 447 %| FRIBEE 4,936 M 1,143,890 M 49 %
REAFI58 & 24,941 N 43, 705 174 %| FRI9EE 4,050 M 1,147,940 M 82 %
REFI59EE 31,145 N 74, 850 125 9%| FR205FEE 3,576 M 1,151,516 M 88 %
REF1605FE 46,937 M 121,787 151 9%| FR21EE 3,513 M 1,155,029 M 90 %
REFI61 & 63,640 M 185, 427 136 9%| FR225FEE 3,567 M 1,158,596 M 102 %
REFI625E 75,598 M 261,025 119 9%| FR23FEE 1,610 M 1,160,206 M 46 %
REFI63EE 79,506 M 340, 531 105 9%| FR245%EE 3,678 M 1,163,884 M 228 %
TRTEE 86,616 M 427,147 109 9%| FR25%FE 2,406 M 1,166,290 M 65 %
T2 FE 91,690 M 518, 837 106 9%| FR2645EE 843 M 1,167,134 M 35 %
TR IFERE 86,762 M 605, 599 95 9%| FR2TEE 510 M 1,167,644 M 61 %
T4 FERE 75,748 M 681, 347 87 9%| FR28FE 632 M 1,168,276 M 124 %
TS FEE 78,644 M 759, 991 104 9%| FR29FEE 1,548 M 1,169,825 M 245 %
TR 6FEE 65,394 M 825, 385 83 9%| FRI0EE 1,235 M 1,171,060 M 80 %
TR 7 EE 61,375 M 886, 760 94 %| HINMEE 883 M 1,171,943 M n %
TR 8 FRE 58,165 M 944, 925 95 %

TR OFE 48,197 M 993, 122 83 %
ERI0OFE 26,684 M 1,019,806 55 %
ERIEE 27,878 M 1,047,684 105 %
ERRI2EE 19,888 M | 1,067,572 M %
ERI3EE 13,757 M | 1,081,329 69 %
ERIAFEE 20,323 M 1,101,652 148 %
ERISEE 13,424 M | 1,115,076 66 %
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